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CHILD CARE ACCESSIBILITY SCALE:  
 
>P_HC41<   

Now I'd like you to tell me whether you agree or disagree with each of the following 
statements about the childcare arrangement we've been talking about.  Pick your answer 
from Card HC-2.   

 
The first statement is: You found a childcare provider who shares your values. Would you 
say you... 
 

     1 = Strongly disagree,  
     2 = Disagree,  
     3 = Agree, or  
     4 = Strongly agree?  
    -1 = DON’T KNOW  
    -2 = REFUSED  
              
>P_HC42<   

How much do you agree or disagree with the next statement: You like the way the 
childcare provider views the world.  Would you say.... 
 

     1 = Strongly disagree,    
     2 = Disagree,                  
     3 = Agree, or                
     4 = Strongly agree?      
    -1 = DON’T KNOW      
    -2 = REFUSED                            
 
>P_HC44<   
There are good choices for childcare where you live.(How much do you agree or disagree 
that there are good choices for childcare where you live?  Would you say...) 

 
    1 = STRONGLY DISAGREE,  
    2 = DISAGREE,  
    3 = AGREE, OR  
    4 = STRONGLY AGREE?  
   -1 = DON’T KNOW  
   -2 = REFUSED   
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>P_HC45<   
When you made this arrangement, you had more than one option.(How much do you agree or 
disagree that when you made this arrangement, you had more than one option?  Would you 
say...) 

 
     1 = STRONGLY DISAGREE,  
     2 = DISAGREE,  
     3 = AGREE, OR  
     4 = STRONGLY AGREE?  
    -1 = DON’T KNOW  
    -2 = REFUSED  
             
>P_HC46<   
You've had difficulty finding the childcare you want.(How much do you agree or disagree 
that you've had difficulty finding the childcare you want?  Would you say...) 

 
    1 = STRONGLY DISAGREE,  
    2 = DISAGREE,  
    3 = AGREE, OR  
    4 = STRONGLY AGREE?  
   -1 = DON’T KNOW  
   -2 = REFUSED  
           
 
>P_HC48<   

In choosing childcare, you've felt you had to take whatever you could get.(How much do 
you agree or disagree that in choosing childcare, you've felt you had to take whatever you 
could get?  Would you say...) 
 

     1 = STRONGLY DISAGREE,  
     2 = DISAGREE,  
     3 = AGREE, OR  
     4 = STRONGLY AGREE?  
    -1 = DON’T KNOW  
    -2 = REFUSED  

 >P_HC49< 
For your childcare arrangement, transportation is a big problem.(How much do you agree 
or disagree that for your childcare arrangement, transportation is a big problem?  Would 
you say...) 

 
     1 = STRONGLY DISAGREE,  
     2 = DISAGREE,  
     3 = AGREE, OR  
     4 = STRONGLY AGREE?  
    -1 = DON’T KNOW  



128 
 

    -2 = REFUSED 
  
>P_HC57<   
You never worry about the childcare provider being there when he or she's supposed to. 
(How much do you agree or disagree that you never worry about the childcare provider being 
there when she's supposed to. Would you say...) 

 
     1 = STRONGLY DISAGREE,  
     2 = DISAGREE,   
     3 = AGREE, OR  
     4 = STRONGLY AGREE?  
    -1 = DON’T KNOW  
    -2 = REFUSED  
             
>P_HC58<   

If [CHILD] is mildly sick, you can still rely on the childcare arrangement.(How much do 
you agree or disagree that if [CHILD] is mildly sick, you can still rely on the childcare 
arrangement Would you say...) 
 

    1 = STRONGLY DISAGREE,  
    2 = DISAGREE,  
    3 = AGREE, OR  
    4 = STRONGLY AGREE?  
   -1 = DON’T KNOW  
   -2 = REFUSED  
 
>P_HC59<   
  If [CHILD]’S childcare provider is out sick, there is another arrangement you can turn to. 
 (How much do you agree or disagree that if [CHILD]’S childcare provider is out sick,  
   there is another arrangement you can turn to?  Would you say...) 
 
     1 = STRONGLY DISAGREE,  
     2 = DISAGREE,  
     3 = AGREE, OR  
     4 = STRONGLY AGREE?  
    -1 = DON’T KNOW  
    -2 = REFUSED  

            
ACCESS13 
Composite score for accessibility to childcare 
 
Original items used to create composite variable: phc41a, phc42a, p hc44a, phc45a, phc46a, 
phc48a, phc49a, phc57a, phc58a, phc59a 
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Notes: The composite score was calculated by taking the mean of the above items.  The mean 
was calculated only if 7 items or more were valid.  See appendix for more details. 
   
CHILD CARE AFFORDABILITY SCALE   
 
 
>P_HC43<   
Low cost was the most important reason you chose the childcare you did.(How much do you 
agree or disagree that low cost was the most important reason you chose the childcare you 
did?  Would you say...) 
 
     1 = STRONGLY DISAGREE,                 
     2 = DISAGREE,                                       
     3 = AGREE, OR                                       
     4 = STRONGLY AGREE?                    
    -1 = DON’T KNOW                                   
    -2 = REFUSED                                           
 
 
>P_HC47<   
Your family does without things you need in order to pay for childcare.(How much do you 
agree or disagree that your family does without things you need in order to pay for childcare?  
Would you say...) 

 
     1 = STRONGLY DISAGRE,  
     2 = DISAGREE,  
     3 = AGREE, OR   
     4 = STRONGLY AGREE?  
    -1 = DON’T KNOW  
    -2 = REFUSED  
              
>P_HC51<  
You have difficulty paying for childcare.(How much do you agree or disagree that you have 
difficulty paying for childcare?  Would you say...) 

 
     1 = STRONGLY DISAGREE,  
     2 = DISAGREE  
     3 = AGREE, OR  
     4 = STRONGLY AGREE?  
    -1 = DON’T KNOW  
    -2 = REFUSED  
 



130 
 

>P_HC52<   
You can't afford the kind of childcare you would like.(How much do you agree or disagree 
that you can't afford the kind of childcare you would like?  Would you say...) 
 
    1 = STRONGLY DISAGREE  
    2 = DISAGREE,  
    3 = AGREE, OR  
    4 = STRONGLY AGREE?  
   -1 = DON’T KNOW  
   -2 = REFUSED   
            
AFFORD13 
Composite score for affordability 
 
Original items used to create composite variable: phc43a, phc47a, phc51a, phc52a 
 
Notes: The composite score was calculated by taking the mean of the above items.  The mean 
was calculated only if 3 items or more were valid.  See appendix for more det 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


